B.Sc. 5th Semester (Programme) Examination, 2020-2021

CHEMISTRY
Course ID: 51418 Course Code: UGP/CHEM/501/DSE-1A

Course Title: Green Chemistry

Time: 1 Hour 15 Minutes Full Marks: 25

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words as far as practicable.

1. Answer any five questions: 1x5=5
(T (PICAT ATHT AT Tod Wid:

(a) What is the source of MW?

MW <1 58 752

(b) Write the 1% principle of “Green Chemistry”.
o= I 97 AN TG AT

(c) What do you mean by “atom economy”?
GO N IeIC© fF Q2

(d) What is PLA?

PLA {2

(e) Name one green marine antifoulant.

B0 AN (TN 6 PROIG L NN (&7

(f) Why cis-fat is better for health than trans-fat?

TN SATAT CHCA 57151 I, [ FIEI TN WG GHNFIQ (FN?




(9) What is surfactant?
STFIEIC 52
(h) Which gas was released during Bhopal Gas Tragedy?

T ST GREGAIR b STy fevsfe Rfeer?

2. Answer any two questions: 5x2 =10
(T (AT 76 ATHF T8 WIS:

(@) (i) Why do the organic dyes light sensitive?
(N (G I AT IR T2

(if) What are the utilities of sonochemical reactions over conventional heating processes?

AT OIS [T QANTT - (HNFI [ GTa 53341 5 /2 2+43=5

(b) (i) Write the various source of air pollutions.

JrorsT MR [foN B sTesfe (e

(if) What are the differences between thermoplastics and thermosetting polymers?

Thermoplastic €<] Thermosetting polymer &< (T 12wy 2 2.5+25=5

(c) Write short notes on the following (any two):

AR RyvesfEg S Bl Y| (T @ o)
(i) lonic Liquids.

QN O |

(if) Ozone layer depletion
SUGIN B9 M|

(iii) Solvent-free reaction.
ARP- [ 25+25=5



(d) (i) What are the differences between pigments and dyes?
TP A3 AGTHF N NLFT 7

(if) What is the Greenhouse effect and what is its cause?

fam=ISS ATF [ 978 Af67 IR 2 25+25=5
3. Answer any one question: 10x1 =10
(T (FIAT JH6 AT TS W18:

(@) (i) How can you convert D-glucose to catechol by biosynthesis?

ORI HLTAFYH WIHTNS fFOIF D-glucose (ATH catechol 4 AFISN FAR?
(if) What is super critical CO2? What are its advantages?

TR fSHGHIE CO, I F @A f6 F IS G738 (FF FRAGAS?

(iii) Discuss the advantageous points with water as solvent in comparison to organic solvents.

(O AP QAN GietP AP RANI IR FACE (6 LT 2- TGN $A|
(iv) Write one disadvantages of TBTO.

TBTO 4F IR SoY(I4T @ (04| 3+3+3+1 = 10

(b) (i) What are advantages of sonochemical reaction over conventional heating process?

a3 anl

STSTS ST ST (NS I fRF 3T AT SIS S (Fel?

(i) What materials are commonly used in carpet?

TEETe FI0 A fF 47@7 7w 5379 F97 3?

(iii) What are the problems of such carpets? How green chemistry solve the problems?
9% YIS FIAC A7 SIS 5?2 Fe A1 FOTR 97 TN F&?

2+2+4+2 =10



